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QUESTION 1

Examine the structure of the TEST_DETAILS table: Name Null? Type 

TEST_ID NUMBER 

DESCRIPTION CLOB 

DESCRIPTION data was entered earlier and saved for TEST_ID 12. 

You execute this PL/SQL block to add data to the end of the existing data in the DESCRIPTION 

column for TEST_ID 12: 

DECLARE 

clob_loc CLOB; 

buf CHAR(12); 

BEGIN 

SELECT description INTO clob_loc FROM test_details WHERE test_id = 12 ; 

buf := \\'0123456789\\'; 

DBMS_LOB.WRITEAPPEND(clob_loc,DBMS_LOB.GETLENGTH(buf), buf); 

COMMIT; 

END; 

/ 

It generates an error on execution. 

What correction should you do to achieve the required result? 

A. WRITEAPPEND must be replaced with APPEND. 

B. The BUF variable data type must be changed to CLOB. 

C. FOR UPDATE must be added to the SELECT statement. 

D. The GETLENGTH routine must be replaced with the LENGTH built-in function in WRITEAPPEND. 

Correct Answer: C 

 

QUESTION 2

Which two statements are true about the migration of BasicFile to the SecureFile format by using the
DBMS_REDEFINITION package? (Choose two.) 
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A. It can be performed only on tables with a single LOB column. 

B. It automatically creates an interim table during the migration process. 

C. It allows the table that is migrated to be accessed throughout the migration process. 

D. It requires free space that is at least equal to the space used by the table that is migrated. 

E. It requires all constraints defined on the original table to be re-created manually after the migration. 

Correct Answer: CD 

 

QUESTION 3

When do you use static SQL as a technique for avoiding SQL injection? 

A. when the WHERE clause values are unknown 

B. when the code contains data definition language (DDL) statements 

C. when all Oracle identifiers are known at the time of code compilation 

D. when the SET clause values are unknown at the time of code compilation 

Correct Answer: C 

 

QUESTION 4

To examine the dependencies between all PL/SQL objects and the tables and views they reference, you executed the
following query as the user OE: 

SQL> SELECT owner || \\'.\\' || NAME refs_table 

, referenced_owner || \\'.\\' || referenced_name AS table_referenced 

FROM all_dependencies 

WHERE owner = USER 

AND TYPE IN (\\'PACKAGE\\', \\'PACKAGE BODY\\',\\'PROCEDURE\\', \\'FUNCTION\\') 

AND referenced_type IN (\\'TABLE\\', \\'VIEW\\') 

AND referenced_owner NOT IN (\\'SYS\\', \\'SYSTEM\\') 

ORDER BY owner, NAME, referenced_owner, referenced_name; 

Which statement is true about the output of the query? 

A. It displays all PL/SQL code objects created by user OE that reference any table or view owned by other users except
SYS and SYSTEM.. 

B. It displays no rows because this query needs to be executed as the user SYS for required results. 
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C. It displays all PL/SQL code objects that reference a table or view directly for all the users in the database. 

D. It displays only those PL/SQL code objects created by the user OE that reference a table or view created by the user
SYS. 

Correct Answer: A 

 

 

QUESTION 5

View Exhibit1 and examine the structure of the EMPLOYEES and DEPARTMENTS tables existing in your schema. 

View Exhibit2 and examine the PL/SQL block that you execute to display the department-wise incremented salary for all
the departments in your company. 

The code generates an error on execution. 

What correction should be done to ensure the code executes successfully? 

A. The cursor variable parameter should be passed in IN OUT mode. 

B. The cursor variable should be defined as a strong REF CURSOR type. 

C. The cursor variable name passed as actual and formal parameters should be identical. 

D. The %NOTFOUND cursor attribute cannot be used with the cursor variables and should be replaced with a user
defined exception. 

Correct Answer: A 
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